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[2b] T ¢, dER(3); V teR({4});

ft,1,1)= c(l)+%t(4)+ d (1) cos _mij,(i)?)(?)) t(4)+ d(2)
and f(£, 2, 1)= c(2)——2%t(4)+ d(1)sin —mZ’(??;?’) t4)+ d(2)
and f(t,3,1)= c(3)+ d(3)t(4)+m(2’ ey [t(4)]°
2m (1, 1)
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VfEF: 1;: VEEF:;; VmeER(2X1); VgER; Va€ER; VbER;
[ [1] and [2] and [3] ]=e:(f, E,m)

[1] @ >0 and & >0 and m(1,1) >0
[2] VEEN.: ViE]:
E(&,i,1)=qv(i;£6(3),0) and E(&,4,2)=0
[3] 3r€R; IKER; T, 6 =R(R); [3a) and [3b] and [ [3cl] or
[3c2] or [3c3] or [3c4] or [3c5] or [3c6] ]

[3a] h=aband K=b°+2¢gm(2,1) [am(1,1)]
[3b] VtER({4});r(t(4)) >0 and f(t 1,1) = r(#(4))cos (6 (¢(4))) and
ft,2,1)=rt4))sin(6 (t(4))) and f( 3,1) =0

(301) qm(2,1)<—ab2m(1,1) and [gtoeR; SGOER;
[3c1a] and [3c1b] ]

m (2, 1)
[3cla) &= s and 0 ,~=x

m (1, DKy K

- 3897 ~



